€2 - EoEAMEA

(N EDETHTRI L.
4x 0 +306

A

306
44+ —=0+5
O

=0+5

306
= +1

306 =17 x 18
£Y
O=17 ---(%&)

(2)NKDZAUD%E 4 NTEDHEIE. 1 A0KXRTEHERWMNMES.
NARKDZAUDE 3 DDOHELYE—HEICHENDEEZDIENTESLDT,
{(N+3)Xx(N+2)x(N+ 1)}

3x2x1
TROBHZENTEET,
ZDEFMNDPELES 130 &Y KJVLD T,

FY.INZ8ITHAHAZELHLMYFET,
SEANDAAVDERIE 1 KT D4 NZRIFEFEE

7><6x5_35
3Ix2x1
165-35=130
EUR

()8 K

(3) EEHFITHA LR DT,

1,146, 1+6+12, 1+6+12+18, 1+ 6+ 12 + 18 + 24, =+
1,1+1%6, 1+(1+2)x6, 1+(1+2+3)x6, 1+(1+2+3+4)X6, =

AXFDRHKE[HESE

99 x 100 x 101
1x100+ X 6=100x(1+99x101)

6
=100 x 10000 = 1000000 ---(%&)

X AXZEHSLZTNENFREVNENSIDIFTEHYFE A,
ARXZEEZ-LTOHEFIEZONET



